%)
— M -
o = >
% . > 29
< = = cy s s
E a o wv =
S N =z S g ’ :
Zow N =g i i
E3 =] bt .
852 b = = o
=
o ga = [ : z E 2 5 s
3 le ] w : - E
: 2 g o|2|u = o= =)
<| 2 LRk S5z |l 23 5 S
=| o >= | Z I o |w =z 5 <
: e : EW S = X [Ls] <C
2 : 2= E SN e | > N L ()
N o Zx o o< |> [ = o v = = ]
ul & SISIS IR x|Z DL =< = < < e -—
<t = W—ox 2 al—|e s p 3 9 = 3 o ~
<| = Z "oau 2 w8 S |E o’ =
2| z 5285 2 d=lgel g lo o = wv <
: 2 5 £ g > [N & N — o w -
M S _ " zZus N s = D% = = o |3
g i 2 \ - 3
5 & 2 RLEo o ) Ga &|m < o @ o3 < S | %
[G] N wy Zo < N : = - . :
2 3 =B < E =2 E W N — —
; o>
: g8t - N ) o o 3 S (a
S v = ZZRE < = [am] 2 < o x )
< 6 x z25< N Z THE
o DTN o AE A + =
Z 3 o283 & 2E it FHE S
5 o3 S . 5 5 2 s 8 £ - S
?oapis = ¥ |lo NE= @SE |z ~
g2 ‘o S -
S S|E g B 2:312 12 =2
— 7 m,x % 5 LRM - ~N @ o e. ol < [l /.—-
| - g2 < o 25 | > o <C
C 5| 5| = < S5 9 - [an] [ L
a 5|<C 5 -
: ] [ se. 5¢5
f// 5'07
\Z
_ 3,
/ .“ﬂll \ ‘& \“ﬂb t
- /, X ﬂWﬂ/
., \ m:
A ®
1
/ / / . h
.
@N.hv& /QN/ .\ \ ' N\ AN
vl / / ~ /
700 ‘
glg
149
$IG
clg
S | ,.@qu
TSR TR B ieszanka 23 :
T . H _mwNmD 4 :
= bmn x> e poczatek umocnienid _uoconi*mﬂ, - _“r-_” 25 - 22 2L
. cemen 11 2 -
kruszywa 3zanego F 1] n4/.| n S S 001 M %
km 1+100 [ S8z = e
] el LN 0O -
KEK km 1:096.€ oo :
7 JAZD km 1:093 E B
X

4 O
n <2 :
oo ERE i/
G0/ PR N mn/__.bzom
o BT oS NS s
S8 RaaE R =500m
E,l non bm wononon - poczatek mijanki
mVAVlt km 1+043

R

L

x

T

f
==L

ZJAZD km 1+035
il

7JAZD km 1014

—— 7JAZ0 km 0+992

ND Km 0+99
ZJA ‘, s

7/96%

POCZATEK ODCINKA OBJETEGO |
0+861.7
ODREBNYM OPRACOWANIEM + w

629

£5h
619
ALK km 0+510.73
PLK km 0450160
609
- ZJAZ0 km 04479 ||
\ 1 ZJAZD km 0+479
koniec mijank | ,“\
foniec mian QE\/ ZIAZD km 04471
mm KEK km 0446313
\Q,Q { v ,»,, 3
\ _. |
/

PT /69
km Q+N

9
X 555 .moo
v\ = A Q 33

O -
69

1/265




